

$$\log_n^m = a \quad \frac{\log m}{\log n} = a \quad \log^m = \log^n \times a$$

$$\log_{mn}^{m^n} = b \rightarrow \frac{r \log^m + \log^n}{\log^m + \log^n} \Rightarrow \frac{r(\log^n \times a) + \log^n}{(\log^n \times a) + \log^n} = \frac{\log^n(r a + 1)}{\log^n(a + 1)} = \frac{r a + 1}{a + 1}$$

$$\Rightarrow 1 + \frac{a}{a+1} = b \rightarrow [b] = 1$$

کوتاه از ۱

$$\frac{a}{y+\frac{1}{r}} \geq 0 \rightarrow y_r^a \leq 0 \rightarrow n < r = 1 \rightarrow \begin{cases} n > 1 \\ n < 1 \end{cases} \rightarrow 0 = (0, 1)$$

(۱۲)

الف) $y = \sqrt{\frac{x}{\log \frac{x}{r}}} \rightarrow x > 0 \quad \frac{x}{\log \frac{x}{r}} > 0 \quad \frac{1}{-1+} \quad [1, +\infty)$

$\frac{1}{r} > 0 \quad \frac{1}{r} \neq 0$

ب) $y = \frac{\log_r(x^2 - x - r)}{\sqrt{x^2 - 1} + 1} \rightarrow \begin{cases} x^2 - x - r > 0 \\ r > 0 \quad r \neq 1 \end{cases} \rightarrow \frac{-1 \pm \sqrt{1+4r}}{2} \rightarrow (-\infty, -1) \cup (r, +\infty)$

$$\hookrightarrow \sqrt{x^2 - 1} \geq 0 \quad x^2 \geq 1 \quad \begin{matrix} x > 1 \\ x < -1 \end{matrix} \quad \sqrt{x^2 - 1} + 1 \neq 0 \quad \sqrt{x^2 - 1} \neq -1 \quad \checkmark$$

$$r \log_x^a + \log_{\sqrt{x}}^{\sqrt{x}} = r \xrightarrow{x=9} r \log_{\frac{9}{r}}^a + \log_a^r = r \rightarrow \frac{r}{r} \log_{\frac{9}{r}}^a + \log_a^r = r \rightarrow$$

$$\log_{\frac{9}{r}}^a + \frac{1}{\log_{\frac{9}{r}}^a} = r \quad \frac{(\log_{\frac{9}{r}}^a)^r + 1}{\log_{\frac{9}{r}}^a} = r \rightarrow (\log_{\frac{9}{r}}^a)^r + 1 = r \log_{\frac{9}{r}}^a \xrightarrow{\log_{\frac{9}{r}}^a = t}$$

$$t^r + 1 = r t \quad t^r - r t + 1 = 0 \quad (t - 1)^r = 0 \xrightarrow{t=1} \log_{\frac{9}{r}}^a = 1 \quad [a=3]$$

$$\log^r \approx 0,3 \quad \log^3 \approx 0,14$$

$$(\log \frac{\omega}{r}) x^r + (\log 9) x - \log 1 \omega = 0 \quad (\log \omega - \log^3) x^r + (\log^3 + \log^3) x - (\log \omega + \log^3) = 0$$

$$a + b + c = 0 \rightarrow x_1 = 1 \quad x_r = \frac{c}{a} = \frac{-\log \omega - \log^3}{\log \omega - \log^3} \xrightarrow{0,14 < \log \omega < 1} \approx 0$$

$$|x_r - x_1| = 1$$

(۰,۵)

$$\log_{\omega}^r = 0,12 \rightarrow \frac{1}{\log_{\omega}^r} = 0,12 \quad \log_{\omega}^{\omega} = \frac{1}{0,12} \quad r / \log_r^v = r, 1$$

$$\log_{\frac{10}{14}}^{10} = \frac{\log_{\frac{10}{14}}^{10}}{\log_{\frac{10}{14}}^{\frac{10}{14}}} = \frac{\log_{\frac{10}{14}}^{\frac{10}{14}} \times r}{\log_{\frac{10}{14}}^{\frac{10}{14}} \times r} = \frac{\log_{\frac{10}{14}}^{\frac{10}{14}} + \log_{\frac{10}{14}}^r}{\log_{\frac{10}{14}}^{\frac{10}{14}} + \log_{\frac{10}{14}}^r} = \frac{r + 1}{r, 1 + 1} = \frac{r}{r, 1} = \frac{1}{1,03}$$

$\frac{15}{14}$

(۱,۷۵)

$$\log_{10}^4 = \frac{\log_{10}^4}{\log_{10}^4} = \frac{\log_{10}^4 + \log_{10}^4}{\log_{10}^4 + \log_{10}^4} \quad \log_{10}^4 = \frac{1}{\log_{10}^4} \rightarrow \frac{\frac{1}{1.4} + 1}{1 + 1.4} = \boxed{0.42}$$

9

6

$$\log_{\lambda}^1 = m \quad \log_{r^r}^{r \times r \times r} = m \quad \log_r^r + \log_r^r = r m \quad r \log_r^r = r m - 1 \quad \log_r^r = \frac{r m - 1}{r}$$

$$\log_r^r = \frac{1}{r} (\log_r^r + \log_r^r) = \frac{1}{r} \left(r + \frac{r m - 1}{r} \right) = \frac{r}{r} (m + 1)$$

9

7

$$(0.1)^{r x - 1} = \left(\frac{1}{10} \right)^{r x - 1} \quad \left(\frac{r}{\omega} \right)^{r x - 1} = \left(\frac{\omega}{r} \right)^{r x - 1} \rightarrow \left(\frac{r}{\omega} \right)^{r x - 1} = \left(\frac{r}{\omega} \right)^{-r x - 1}$$

$$-r x - 1 = r x - 1 \quad -r x - 1 + r x - 1 = 0 \quad x + r - 1 = 0 \quad (x + r)(x - 1) = 0$$

$$\underline{x = -1} \rightarrow \log_{\lambda}^{-1} X$$

$$\underline{\log = \frac{1}{r}} \rightarrow \log_{\lambda}^r = \frac{r}{r} \log_r^r = \boxed{\frac{r}{r}}$$

9

8

$$\log_r^r = a \quad \log_{\lambda}^b = \frac{r}{r} (1 + a) \rightarrow \frac{1}{r} \log_r^b = \frac{r}{r} (1 + \log_r^r) \rightarrow$$

$$\log_r^b = r \log_r^r = \log_r^{r r} \quad b = r r \quad \log(r b - 1) \Rightarrow \log_{10}^{100} = \boxed{2}$$

9

9

$$\frac{1}{s} = \log f \quad \frac{1}{\frac{b}{ra}} \rightarrow \frac{ra}{b} = \log f \rightarrow \frac{b}{a} = \frac{r}{\log f}$$

$$r b = a + c \quad c = r b - a$$

$$\left(\frac{1}{\sqrt{r}} \right) \frac{c}{a} \rightarrow \frac{r b - a}{a} = r - \frac{b}{a} = r - \frac{r}{\log f}$$

$$\left. \begin{array}{l} \frac{1}{r \frac{1}{\sqrt{r}}} \rightarrow r - \frac{1}{\sqrt{r}} \\ \frac{1}{r} - \frac{1}{\sqrt{r}} \end{array} \right\} r - \frac{1}{\sqrt{r}} \left(r - \frac{r}{\log f} \right)$$

98

10

$$\log^0 = , , V \quad \log^1 = , , A \quad \log^{10} = 1, 1 \quad \log^{\frac{\omega}{r}} = , , \mu \quad (K)$$

$$\rightarrow , , \mu a^r + , , A a - 1, 1 \rightarrow \begin{cases} n_1 = 1 \\ a_r = \frac{-1, 1}{, , \mu} \end{cases} \rightarrow a_1 - a_r = \frac{1\mu}{\mu}$$

$$a = \frac{b+c}{r} \rightarrow b = ra - c \rightarrow \frac{1}{a_1 + 2a_r} = \frac{1}{s} = \frac{ra}{b} = \frac{ra}{ra-c} = r \log^r$$

$$\rightarrow \frac{ra}{ra-c} = \log^r \xrightarrow{\text{عكس}} \frac{ra-c}{ra} = \log_r^{10} \rightarrow 1 - \log_r^{10} = \frac{c}{ra} \rightarrow r - \log_r^{10} = \frac{c}{a} \quad (1)$$

$$\left(\frac{1}{\sqrt[r]{r}}\right)^{\frac{c}{a}} = \left(r^{-\frac{1}{r}}\right)^{\frac{c}{a}} = \left(r^{\frac{c}{a}}\right)^{-\frac{1}{r}} \xrightarrow{(1)} \left(r^{r - \log_r^{10}}\right)^{-\frac{1}{r}}$$

$$\left(\frac{r^r}{r \log_r^{10}}\right)^{-\frac{1}{r}} = \left(\frac{r}{10}\right)^{-\frac{1}{r}} = (r\omega)^{\frac{1}{r}} = \sqrt[r]{\omega}$$